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5.5: Slopes of Special Lines and Equations of Lines

1. Graph the following points and calculate the slope. -

a) E(3,3) F(3,8)

\

9

0.
o g ine
" (> OPOCEPEY:
4
ul PNERAZ = Yo D)
- - 1 —

A0 ILN*: A NKEREARER QC,L"’%' ‘2&
1o E\/\ /.
S _ -2 s UL“M
anEaEc - —==5% "
5 =2 » “/“ 0
T W)

, 1 o
b) G(-6,-4) H(8,-4)
2
]
L
; L‘on‘ZONl’LQ ll
: S"Up& A
., T EENNEE T
Jof EEEE] ‘,""'A]q:l T2 3[R 5[ 5[ 78 ¥ lj m = & — ('9/ ; O
_ 1. .
aNE L g th 14
5 : f}i —— T _
i .
Iz J
a N '
a' .
o
&) A(-5,6) B(-5,-2) d) €(5,-3) D(-4,-3)
g 22—
- — - G -~ - = N -~
M= -—2’—/;—" -0 m Y5
-5 45 oy O
e
- (LnMN = ,9 g




Eguation of a line

;)Le: MaC-A- b is the equation of a line in ‘5‘0|3e (\)ﬁnabrcP (.D't form.

“m” represents S\OP@‘ ‘

“b” represents ?j-"rﬂér(egt CWMa e ke  cres sess Ahe
'\:‘)’—q\c\>>

How do vou find m and b?

1) bis_the W-coordivale  cohere Vo  Yine teosees e NS,

2) Calculate slopeusing __Tis@ (¥ 1;\ s 3y
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3) Once you have the two components, Ve Can Lo 4 ’\\(\e pn\ Codion \:}-—- o 13

4) x-intercept is where the line crosses the X-—qQ=xX S, . To find this, we set

‘3 =0 , find the spot on the graph where the line passes through the __X-—ax{(S.




Slope 15 a nomber ( Mo o YOS o (»L)

Iinterpreting the Slope Y-Intercept Form of a Line

| , )
Fill in the chart below: ® fpe }Zml-ﬁFsrs?;%t
y=mx+b
EQUATION SLOPE Y-INTERCEPT DIRECTION
| y=6x+13 6 13 Op
2, y=—4x+9 | —4 9 doory
3. y:—-7x~—5 "“? - S Jow‘/\
4 y=x—2 ! — o e
5 y=>x+10 2/, = p
{‘,
{
6 7
y=gx— 4 -3 Cep
5 |
7 y=—x+7 -1 q/l{ Ji@wn
8 y = 8.3x 3.3 O uy”
9 _X 3y > “
10. y=11 O l] )
= o) }wﬁzénfaﬁ
x |
—g_X iy
, 2 : |
12.| y=-8+= < -2 Up - (
3 3
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Special Graphs Are Easy!

Mathematics 9
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